
SAP ABAP table WCS_IO_LINEUP {WCM: I/O Lineup}

WCS_IO_LINEUP

LUNR [CHAR (12)]

OBJNR [CHAR (22)]

LUUSE [CHAR (3)]

IWERK [CHAR (4)]

INGRP [CHAR (3)]

PLANT [CHAR (4)]

BEGRU [CHAR (4)]

ANLZU [CHAR (2)]

TGGRP [CHAR (1)]

TPLNR [CHAR (30)]

EQUNR [CHAR (18)]

TRAIN [CHAR (3)]

REFLUNR [CHAR (12)]

EQUI

MANDT [CLNT (3)]

EQUNR [CHAR (18)]

 WCS_IO_LINEUP-EQUNR = EQUI-EQUNR 
0..N

0..N

IFLOT

MANDT [CLNT (3)]

TPLNR [CHAR (30)]

 WCS_IO_LINEUP-TPLNR = IFLOT-TPLNR 
0..N

0..N

ONR00

MANDT [CLNT (3)]

OBJNR [CHAR (22)]

 WCS_IO_LINEUP-OBJNR = ONR00-OBJNR 
0..N

0..N

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 WCS_IO_LINEUP-IWERK = T001W-WERKS 

0..N

0..N

 WCS_IO_LINEUP-PLANT = T001W-WERKS 0..N

0..N

T024I

MANDT [CLNT (3)]

IWERK [CHAR (4)]

INGRP [CHAR (3)]

 WCS_IO_LINEUP-INGRP = T024I-INGRP 0..N

0..N
T370B

MANDT [CLNT (3)]

BEGRU [CHAR (4)]

 WCS_IO_LINEUP-BEGRU = T370B-BEGRU 
0..N0..N

WCAJ

MANDT [CLNT (3)]

LUNR [CHAR (12)]

 WCS_IO_LINEUP-LUNR = WCAJ-LUNR 

0..N

0..N

 WCS_IO_LINEUP-REFLUNR = WCAJ-LUNR 

0..N

0..N

WCCD

MANDT [CLNT (3)]

TGGRP [CHAR (1)]

 WCS_IO_LINEUP-TGGRP = WCCD-TGGRP 

0..N

0..N

WCCG

MANDT [CLNT (3)]

IWERK [CHAR (4)]

ANLZU [CHAR (2)]

 WCS_IO_LINEUP-ANLZU = WCCG-ANLZU 

0..N

0..N

WCCH

MANDT [CLNT (3)]

IWERK [CHAR (4)]

TRAIN [CHAR (3)]

 WCS_IO_LINEUP-TRAIN = WCCH-TRAIN 

0..N

0..N

WCCLU

MANDT [CLNT (3)]

IWERK [CHAR (4)]

LUUSE [CHAR (3)]

 WCS_IO_LINEUP-LUUSE = WCCLU-LUUSE 

0..N

0..N


